;REPRESENTATION INDEX (RI)

Representation index can be used to measure changes in what happens to individual as a result of normal functions of the system. They can be used to identify and provide valuable insights of institutional practices, which are operating to the disadvantage of a particular group of people. The RI does not determine causes nor does it imply any intent to discriminate; rather, the RI measures the effects of what is or what has occurred. Its value lies in that it may be used to isolate particular areas that require closer examination.

-  Calculation.  RIs are derived from a comparison of the actual number and the expected number of people in a particular situation, i.e., those being selected, promoted, assigned, etc.  The following formula is used to develop the RI:

- Representation Index = Actual Number   X 100 - 100 = % over or under representation.

-  Expected Number

Example. The following results of a hypothetical promotion selection board illustrate how the RI is used:

AWARDS (Males)

Race             
            Considered Eligible              Selected                  Selection Rate

	White  
	750
	425
	56.7%

	Black
	(b) 160
	(f) 60
	37.5%

	Hispanic
	60
	10
	16.7%

	Native American
	0
	0
	0.0%

	Asian
	30
	5
	16.7%

	Other/Unknown 
	0
	0
	0.0%

	Total
	(a) 1000
	(d) 500
	50%


From this source data, the RI can be computed by following the procedure outlined below:

Step 1: Find the total number of soldiers considered eligible.  (a) 1000
Step 2: Find total number of group (i.e., black males) eligible.  (b) 160
Step 3: Determine the expected percentage = b/a = 160/1000 =  (c) 16%

Step 4: Total number selected =  (d) 500                                                                   

Step 5: Expected number of black males = c x d = .16 x 500 = (e) 80
Step 6: Actual number of blacks selected = (f) 60

Step 7: Representation Index = (f / e x 100) - 100 = (60/80 x 100) -100 = -25%

Step 8: Actual number over/under-represented (higher # - lower #) 20
-  The resultant percentage means that blacks are under-represented in this selection by 25% (20 black males).  

-  The percentage does not say anything about what caused the difference.  Data from different points in time need to be collected and analyzed in order to discern trends and arrive at conclusions regarding institutional discrimination.  The long-term goal is to arrive at that point where the RI approaches zero.  

-  The RI would have been zero, for example, if the selection rate for blacks had been 80.  But, through chance alone, the RI will usually fall on either side of the baseline (over/under).  High values (+ or -) at different data points usually highlight problem areas that should be scrutinized by commanders, staff, and managers.
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